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Unit 3 Review: Projectile Motion

Concept:
Fill in the table with the following phrases.
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1. Aflowerpot falls from a windowsill 52.5 m abave the sidewalk. How long does it take the
flowerpot to strike the ground? DA = ét"\/'\JC k. "fa,‘tL
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2. A penny4sthrowm down a wishing well that is 75 m deep. How long will it take for the penny to

hit the ground? pd= Wik + Lokt
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3. A pelican flying with a speed of 20 m/s along a horizontal path drops a fish from a height of 5.4

m-mow farldoes the fish travel horlzocnﬁlly before it hits the water below? \Z%LD:&‘EEA— -
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4. A cat chases a mouse across a ln?high table. The 'mouse steps out of the way and the cat slides
off the table and strikes the floor 2.2 m from the edge of the table. When the cat slid off the

table, whatwashisspe_g_Q?\; " | )ﬂ o
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5. Adog runs down a pier that is 4 m above the surface of the water. If its horizontal speed is 15
m/s as it jumps off, @w Io\ng)witl the dog be in the air? How far from the edge of the pier will

the dog travel at the point it ;tr[ke§ the water?
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6. A speeding train engine derails from its tracks due to the bridge missing a 3ection ahead. If the
train goes off the rails horizontally falling down into a river valley 86-m d‘geg\'and 150 m away Aa\x
from the edge of the tracks. How long was the train engine in the air? How fast was the train
traveling as it lef+ Hhe track? :
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